Section 1: Graphing from Slope-Intercept Form Name: K EY
Graph each equation. Draw 2 graphs on each coordinate plane.
la)y =5x—8 23)y=§x+6
1b)y=—§x+7 2b)y = —4x 40
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Section 2: Writing Equations in Slope-Intercept Form

Write an equation in the formy =mx + b.
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Section 3: Slope-Intercept Form without Exact Graphs

For 5-7, choose the equation that could represent the graph.
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For 8-10, choose the graph that could represent the equation.
8)y=3x-5 Paf-ﬂDP?
A.

9)y = —2x + 3 (@).skp°
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For 11-14, match the graphs with the equations.

K 11)y=3x+6 b K /f L. i M. \

M 12)y=§x+6

L 13)y=3x-6 : | " / - " l:/ oL

J 14y=3x-6 \//’7 h / ‘// |

\/ v

Section 4: Slope-Intercept Story Problems
15) A tree was 3 feet tall when it was planted. It grew 1.5 feet per year.
a. Write an equation in the form y = mx + b representing the situation. y= L5%+3
b. What is the y-intercept of your equation? What does this represent in the situation? 2 5'}',‘1':[]13 lneglﬁ-

c. What is the slope of your equation? What does this represent in the situation? [ 5) _@_aw Eg{ ];m"
/_-‘N

16) You have $80 in your wallet. You spend $5 every minute.
a. Write an equation in the formy = mx + b representing the situation. Y = ‘ZO -5x%
b. What is the y-intercept of your equation? What does this represent in the situation? 503 9_234_;:;1 anourf of mmr
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c. What is the slope of your equation? What does this represent in the situation? — 5: er!f‘ﬂj r minde
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17) You set up a lemonade stand. You have made no money yet. You plan to sell cups of lemonade for $0.50 each.
a. Write an equation in the form y = mx + b representing the situation. \{ =0.50x
b. What is the y-intercept of your equation? What does this represent in the situation? (J > .;I_E_E___:ﬂ. amowf ot Mmt)r

c. What is the slope of your equation? What does this represent in the situation? 0.50 ) mgy que M
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